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10.

ANSWER ALL QUESTIONS
PART-A ( 10x2=20 marks )

What are the characteristics of the program transaction
model.

List the key points concerning macro expansion.

What are ‘the main differences between operating
systems for main frame computers and PCs?

Describe the actions taken by a kernel to switch context
between processes.

List the benefits of nmrulti threaded programming.

Define the difference between preemptive and non
preemptive scheduling.

What are the data structures needed to implement the
banker’s algorithm?

Name two differences between logical and physical
address?

What are the components of the page fault service time?

List the various file attributes.
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PART-B (5x16=80 marks)

(i)  List the tasks performed by analysis and (8)
synthesis phases.

(i)  Explain the pass II of the Assembler. (10)
Or -

Explain the algorithm for processing of a macro (16}
definition.

Define the essential properties of the following (16}
types of operating systems.

i)  Batch

i)  Interactive
iij)  Time sharing
iv)  Real Time
¥ Parallel

vi)  Distributed
vii) Clustered

viii) Hand held
Or

Explain the Interprocess communication (16)
facility in a detail.

Consider the following set of process with the
length of the CPU burst time given in

milliseconds as

N534

2
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Process Burst Time Priority

P 10 3
P2 1 1
P3 2 3
P4 1 4
P5 5 2

The processes are assumed to have arrived in
the order P1,P2,P3,P4,P5 all at time O

1)

i)

1ii)

iv)

Draw four Gantt charts illustrating the
execution of these processes using FCFS,
SJF a non Preemptive prierity (smaller
priority number implies a higher
priority), RR (quantum=1) scheduling.

What is the turnaround time of each
process for each of the scheduling
algorithms in part 1?7

What is the waiting time of each process
for each of the scheduling algerithms in
part 12

Which of the schedulers in part 1 results
in the minimal average waiting time
(overall processes)?

Or

Explain the different synchronization problems
with necessary code.

@

Explain the options for recovery from
dead lock.

(16)
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Explain the approach to prevent the
occurrence of dead lock

Or

Describe  the  following  allocation
algorithms

i) First fit
ii) Best fit
iii) Worst fit:

Explain the basic methods of paging with
neat sketch.

Explain the following page replacement
algorithms with example

i)
ii)

iiiy

FIFO
Optimal
LRU
Or

Describe the most common schemes for
defining the logical structure of a directory,





